
Algebra 1                    Unit 2B/3B: Linear & Quadratic Functions Notes 

Steps for Graphing in Standard Form

 

1)    Find the vertex.  

• Use 
−

=
2

b
x

a
to find our x- coordinate of our vertex 

• Substitute that x back into our equation, and our solution is the y-coordinate of our 

vertex. 

 

2)     Use your vertex as the center for your table and determine two x values to the left and right 

of your x- coordinate and substitute those x values back into the equation to determine the y 

values. 

 3)     Plot your points and connect them from left to right! Your table MUST have 5 points! 

 

Example: Graph 𝑦 = −2𝑥2 − 4𝑥 + 6 

𝑎 = −2   𝑏 = −4   𝑐 = 6 

 

𝑥 =
−𝑏

2𝑎
=

−(−4)

2(−2)
 =

4

−4
= −1 

𝑦 =  −2(−1)2 − 4(−1) + 6 = 8 

 

This parabola has an ____________________ at 𝑥 = −1, a _____________ at (−1,8) which is also 

considered a ______________, a ________________ at (0,6), and ________________ at (−3,0) and 

(1,0). 

 

𝑋 𝑌 

−3 0 

−2 6 

−1 8 

0 6 

1 0 



Algebra 1                    Unit 2B/3B: Linear & Quadratic Functions Notes 

Example 1: Graph 𝑦 = 𝑥2 − 2𝑥 − 3 

a =      b =      c= 

Vertex? (       ,        ) 

 

 

 

 

 

Y-Intercept? 

X-Intercepts? 

Up or Down? 

Maximum or Minimum? 

 

 

 

Example 2: Graph: y = 3x2 – 6x. 

a =      b =      c= 

Vertex? (       ,        ) 

 

 

 

 

Y-Intercept? 

X-Intercepts? 

Up or Down? 

Maximum or Minimum? 
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Algebra 1                    Unit 2B/3B: Linear & Quadratic Functions Notes 

Example 3: Graph y = 2x2 + 3.  

a =      b =      c= 

Vertex? (       ,        ) 

 

 

 

 

Y-Intercept? 

X-Intercepts? 

Up or Down? 

Maximum or Minimum? 

 

 

Example 4: Graph: y = - x2 + 6x – 9 

 

a =      b =      c= 

Vertex? (       ,        ) 

 

 

 

 

Y-Intercept? 

X-Intercepts? 

Up or Down? 

Maximum or Minimum? 

 

x y 

  

  

  

  

  

x y 
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